Bentley Cricket Club Inc Sponsors 1999/2000 Season

A.B.B.

All Welding Services Pty Ltd

Bentley TAB

Canning Sports Club Inc

Carline Mufflers

Carlton United Breweries

Conca's

Eagle Boys Pizza – East Victoria Park

Eureka Fish & Chips

Gosnells Family Meats

Green's Electrical

Johns Building Supplies

Ray White - Victoria Park

The Cricket Shop



Presentation Night

Season 1999/2000

Friday 14th April, 2000



Table of Contents

Presidents Report	
Coach's Report	
Chairman of Selectors Report	4
1 st Grade Report	
1 st Grade Batting and Fielding	(
1 st Grade Bowling	7
1 st Grade Partnerships and Fielding Votes	8
3 rd Grade Report	9
3 rd Grade Batting and Fielding	10
3 rd Grade Bowling	11
3 rd Grade Partnerships and Fielding Votes	12
5 th Grade Report	13
5 th Grade Batting and Fielding	14
5 th Grade Bowling	15
5 th Grade Partnerships and Fielding Votes	. 16
7 th Grade Report	17
7 th Grade Batting and Fielding	18
7 th Grade Bowling	19
7 th Grade Partnerships and Fielding Votes	20
9 th Grade Report	21
9 th Grade Batting and Fielding	22
9 th Grade Bowling	23
9 th Grade Partnerships and Fielding Votes	24
Ralph Dungey Memorial Trophy	25
Season Batting and Fielding	26
Season Bowling	28
Career Batting and Fielding	30
Career Bowling	32
Committee and Captains	34
Milestones	35
Ladders	36

From The President

Season 1999/00 was always going to be a challenging one for the club. Coming off the unprecedented successes of the previous year which saw the club gain promotion to the 1st Grade, there was no doubt Bentley was going to be tested. Consolidation in 1st Grade was certainly a key goal for the new millennium but this was not to be. One wonders if the Y2K bug had something to do with it!!

History will show this season to be a disappointing one. Not only were our top two sides relegated, for the first time in five years, the Bentley Cricket Club did not win a premiership. This is a hard pill to swallow for a club that has tasted so much success in recent times.

Our 'A' Grade side proved to be competitive and battled valiantly all year. In my view the side was unlucky to be relegated by only the narrowest of margins (.41pts). Good luck also deserted the team. Two games in which Bentley were well placed to win were drawn because of rain. Add to this a couple of games lost by less than 20 runs, confirms this team was more than able to hold their own in the big league.

On a philosophical level though, one could perhaps view this season as a rebuilding year for the club. There were a large number of new players who joined the club and lots of new talent unearthed. This augurs well for the future. The efforts of the coaching committee led by Coach Steve, Chairman of Selectors, Greg Dart and all the grade captains must be recognised and applauded. A vote of thanks also goes out to our net captain in Staffy Dawson and Brian Hayward who continues to be involved in the club.

Sadly, 'BuddySteve', our coach for the last seven seasons, will not continue in this role next year. The good news is that he will be continuing as a player and his presence will no doubt have a strong bearing on the club's performance. Tribute must be paid to Steve. His reign as coach has brought unparalleled success to the club. The club has won five premierships during his time and also expanded from three to five teams. The fighting spirit and enthusiasm that he has instilled in the club cannot be overstated. His own dedication, professionalism, personal commitment and sheer hard work has established Bentley as a champion club. The committee is grateful to Steve for his contribution as coach. THANK YOU Steve!!

Off the field, the new look committee experienced a very challenging and demanding year. The tireless efforts of the committee, especially Lesley Magill and Donna Elpitelli, saw the club finish in a sound financial position. I thank the committee for a job well done.

One of the most pleasing aspects of the season was the personal contributions and assistance provided by other club members to the committee in fund raising activities. In particular the committee would like to thank Tony Magill for organising the Mock Gambling Night, Glen Hewitt for his work in running two successful cocktail parties and Anthony Brown for running the 100 club. I also take this opportunity to thank all of the club sponsors, especially our major sponsors in CarLine Mufflers and the Canning Sports Club, for their invaluable support. To all the other members of the club, especially all the Ladies who help in one way or the other, thank you for your support.

From The President

Where to from here? Our major focus for next year must be promotion to 1st Grade and to once again establish the club as a force in the competition. This will present a challenge to the new coach and committee both of whom must forge a close partnership in ensuring on field success.

The committee needs new blood, with motivation and enthusiasm, to meet the challenges the new millennium brings. One of these is the procurement of Turf facilities at Wyong Oval which will require a concerted fund raising effort. Work has commenced on this project with a Sub-committee led by Tony Magill given the task of progressing this issue over the winter. The new committee must also work on finding new sponsorship and look at more creative and innovative ways of raising funds. Strong support from within the club will be absolutely essential.

In conclusion, I have no doubt that the disappointments of this season will spur the club to success next year. Bentley is and will continue to be a great club, one I am proud to be associated with. Here's to season 2000/2001.

Ron Fernandez

Coach's Report

The millennium season has passed us by. As coach I can't help feel a little frustrated at our season. For the first time in six years we have no sides at all representing the Mighty Blues in the finals. It sure makes for a sudden finish to the season. Premierships are the measure of any Club and rightfully so. But success can be measured in many forms. The successful promotion of many players was pleasing. Some doing better than others but most enjoying the challenge of playing on "turf" or just in a higher grade.

There are many fine examples of this but one I will make special mention of is Paul Warren to the "A" side. Paul's efforts were outstanding behind the stumps and he also played some useful knocks with the bat. He is a competitor now an "A"grade one. Paul like others must refine these skills. But just as importantly concentrate on the 1%ers. These are quite often the difference between "players who think they want to do well and those who actually put those thoughts into actions."

The amount of new players registered in particular in 7ths & 9ths and the improvement of many of those players will see them enjoy their cricket more as well as improving the performance of sides they play in. The loss of key players in all grades caused strain. However the professional approach and methods of Greg Dart as our chairman of selectors deserves special praise. Also my personal thanks to Greg for his common sense approach on all issues. His ability to see both sides of any situation and just his general manner.

To our net coach Stafford Dawson again a person with similar attributes to Greg. A man you can rely on. The type of Guy you would call your right hand man. Have a discussion with and not necessarily agree with everything I have said. But still follow my instructions to the letter, just because I have asked him too. We could always discuss it later but at the time when it counted it was always 100% support never anything short.

Glenn Davies our second team skipper was again outstanding. His club first attitude should be commended. The example Glenn sets in all areas of his cricket is surpassed by few. To Greg, Stafford and Glenn my sincerest thanks for a job well done.

To all the players thankyou for your time & support you gave to myself and my methods. Although it is difficult to get 100% support from all concerned I really thought we were close on some occasions. I look forward to giving my fullest support something I have always demanded of you to next year's coach.

In closing to quote Old Blue Eyes: "Regrets I have a few but then again too few to mention....I did it the Steve Shearing way."

With Thanks the Coach of the Mighty Blues

Steve Shearing

From The Selection Table

It seems to be only a short time since Steve and I sat down to discuss plans for season 1999/2000.

For various reasons some of these plans have not come to fruition and the club must now win back its rightful place in A grade.

Sure, we can offer excuses about our performance, with players being unavailable, the weather etc., but for each fixture the selectors were of the opinion that competitive teams had been selected. However, results did not always reflect this.

To my fellow selectors this year, Steve, Glenn, Dino, Greg S., Warren, Bruce, Scott and Damien, I thank you for your help, advice and patience on selection nights and at any other time that I wished to discuss matters with you.

To all trophy winners, and players who have achieved personal milestones, I offer my congratulations.

To all players, thank you for your help and understanding throughout the year, and please remember, it is the attitude and quality of the players that makes our club what it is.

To Ron and the committee, thank you for asking me to fill the roll of Chairman of Selectors for this season. I hope that my contribution has been as worthwhile as that of my predecessors.

To next years Chairman, whoever it may be, I offer my best wishes.

Finally, to my wife Helen and son Geoff, thank you for your support during the year.

Greg Dart

PS - There are only twenty four weeks to the start of the new season!

1st Grade Report

It's not in my nature to make excuses, however the record will show we were relegated by 41 runs. It is not fair to blame any individual but when it is this close it is fair to say that that extra partnership or extra effort to work hard at training or even just concentrating harder in a game could well have been the difference.

In saying all of this the buck stops with me and I accept this. Hopefully in years to come I may get the opportunity to Captain again and make amends. When it is as close as this was it is not all bad there is of course some very fine performances. Tony Magill and Scott Vallow again led the bowling with cameo performances from Danny Arcaro & Shaun O'Shea in games against Subi Marist and Whitfords respectfully.

Tony's all round ability makes him one of the most deserving winners of the Hayward Medal since its inception. His conduct is first class which may only be surpassed by his cricket skill level. The awards Tony will win tonight will be fitting of his season.

Our batting started a little shaky, the conditions were not great, however the longer the season went our batting certainly gained momentum and probably our strength in previous years our bowling fell away. In our last six games we had scored 206, 5/273, 166 (in a one dayer) 197, 201, and 221 for only one win, albeit the whether did seem to give us a raw deal in a couple of games.

Serge Perrozzi had an outstanding year putting his hand up, standing tall and opened the batting for the final 8 games making in excess of 300 runs. Mick Reilly's introduction proved an immediate success with a century in his first A grade game for the Blues. A few good performances from yours truly along with Danny Arcaro were other highlights.

Our fielding was of its usual high standard led by Paul Warren and Anthony Brown. The introduction of Paul, Anthony and Shaun O'Shea will see these players be the leaders in seasons to come. (Not too far away either.)

To our Vice-Captain Scott Vallow and Manageress Helena Magill thankyou for all of your valued help and assistance. From all the guys it is much appreciated. To my Co captains Glenn, Dino, Greg, Waz, and Bruce well done on endeavouring to maintain standards in a difficult year. To all of the players over the years that I have convinced to come along for the ride on the BCC "juggernaught" a special thanks to you especially the ones I have been fortunate enough to have Captained.

It is not fair to individualise so I won't but to the people who have supported me through thick and thin thankyou. I need not mention your names because support and loyalty is a quality that is given from you to me and when received it is surely noted.

To my wife Karen thankyou for your continued assistance and understanding. To Sheba & Cory I look forward to playing a few games at Wyong with you. To next years Captain I look forward to being of what assistance you may require from me.

Steve Shearing

1st Grade Batting and Fielding

Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.
S Perrozzi	44					Avoiago	Caust.
	11	11	1	81	306	30.60	3
S Shearing	10	8	2	84	225	37.50	4
M Reilly	5	6	0	102	215	35.83	1
D Berry	7	- 8	1	60 *	169	24.14	7
A Magill	11	10	1	37 *	154	17.11	2
D Arcaro	9	10	0	68	154	15.40	3
S Vallow	10	8	1	38	135		3
A Brown	10	9	ó	20	107	19.29	1
P Warren	11	10	2	24		11.89	4
S Paap	4	4	1		99	12.38	17/2
K Dawson	8	7	,	46 *	89	29.67	3
S O'Shea	7	5	0	26	61	8.71	2
S Ghauri	5		3	17 *	25	12.50	0
M Harmer		4	0	10	24	6.00	3
K Elliott	5	5	0	9	22	4.40	1
	2	3	2	7 *	14	14.00	1
J Warren	2	2	0	9	9	4.50	0
J Henshall	3	2	1	2	2	2.00	0
C Renwick	2	0	0	N/A	0	N/A	Ô
D Barry	1	0	0	N/A	0	N/A	0
Ge Dart	1	0	0	N/A	Ö	N/A	1

1st Grade Bowling

Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling
A Magill	180 .5	43	531	26	20.42	5/58
S Vallow	131 .1	46	284	19	14.95	4/34
S O'Shea	83	15	255	11	23.18	6/44
D Arcaro	85 .4	18	311	10	31.10	5/69
S Perrozzi	100	22	367	8	45.88	2/53
M Reilly	22.1	3	73	6	12.17	4/32
S Paap	42	8	133	6	22.17	2/34
S Shearing	7.2	0	31	3	10.33	3/31
A Brown	9.3	1	69	3	23.00	2/50
J Henshall	10	4	42	2	21.00	1/6
K Elliott	12	Ó	43	2	21.50	1/20
D Barry	6	1	17	1	17.00	1/17
K Dawson	2	Ô	4	'n	N/A	0/4
D Berry	2	Ö	11	0	N/A	0/11

1st Grade Partnerships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	A Brown / S Perrozzi	53	High Wycombe
2	S Perrozzi / A Magill	66	Subi-Marist
3	S Perrozzi / K Dawson	62	Subi-Marist
4	S Vallow / M Reilly	56	Nollamara
5	M Reilly / D Berry	154	Wembley Downs
6	D Berry / S Vallow	72	Swanbourne
7	D Arcaro / S Vallow	31	Shenton Park
8	S Vallow / A Magill	25	Shenton Park
	S Paap / P Warren	25	High Wycombe
9	S Paap / A Magill	40	High Wycombe
10	S Shearing / S O'Shea	73	Applecross

Fielding Votes

P Warren	95
A Brown	82
A Magill	61
M Harmer	29
D Berry	25
S Ghauri	23
S Shearing	19
S Perrozzi	17
S Vallow	14
S Paap	14
M Reilly	14
S O'Shea	11
D Arcaro	10
K Dawson	8
Ge Dart	3
J Warren	1

3rd Grade Report

The 99/00 season saw the second of Bentley's teams being promoted to 3rd grade after winning back to back premierships in 4th grade. After playing in three consecutive grand finals in 4th grade the teams objective this season was to make the top four in 3rd grade.

The commencement of the season saw many of last year's premiership players unavailable for selection. This gave an opportunity for a lot of younger and new players a chance to play in 3rd grade. Players such as Glenn Hewitt, Stephen Paice, Paul Liadow, Gus Edmunds, Adrian Nation and Phil Johnston all played 3rd grade in the 1st game of the season.

The season did not get off to a good start with Bentley being all out for 124 against Wembley in the 1st game of the season with Captain Glenn Davies top scoring with 70. Fortunately the 2nd week of this game was washed out.

The highlight of the season was undoubtedly Mick Reilly's century against Shenton Park at Rosalie Park. Shenton Park batted first and scored 297 runs. The Bentley run chase was lead by Damien Rickards who scored 68 and Mick Reilly who scored a magnificent 103 runs. Mick started his innings steadily just pushing the ball into the gaps for 1's and 2's. After tea when the run rate needed to be increased Mick adjusted his batting accordingly and began to play more forcibly. The run chase was going along beautifully before Mick was out late in the day for 103 in what was with out question the best innings in 3rd grade for the season. Unfortunately all Mick's hard work was undone as Bentley was all out for 289 with five balls in the innings still remaining.

Bentley only won 2 games this season in 3rd grade and they were against Bassendean and Swanbourne. The team was very competitive in all games in a season that was shortened by weather and the association's incompetence. Our second last game of the season turned into a one day game at Shelley Reserve because Curtin / Vic park decided they wanted to play a scratch match at Barblett Reserve when Bentley was fixtured to play Nollamara at that ground.

It was very disappointing to see the team finish this season in second last position on the ladder. Almost 30 players played in 3rd grade this season. This is an indication that the best possible combination was rarely available. Having said that it also gave the club a chance to give a lot of different players an opportunity of playing on turf wickets. Players such as Stephen Paice, Steve Henshall Adrian Nation and Phil Johnston should benefit from this opportunity and go on to be future A grade players for the club.

Glenn Davies

3rd Grade Batting and Fielding

					_		
Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.
D Rickards	11	13	0	61	244	18.77	6
M Reilly	4	4	0	103	180	45.00	3
G Davies	10	11	1	70	164	16.40	10
K Elliott	5	.5	1	42	139	34.75	1
A McLevie	7	8	0	43	126	15.75	3
P Liadow	5	6	0	63	110	18.33	0
K Spencer	7	8	1	43	103	14.71	0
A Nation	6	7	0	28	95	13.57	4
J Warren	5	6	1	29	85	17.00	1
J George	5	5	0	32	79	15.80	4
J Neilson	6	7	0	24	66	9.43	1
M Harmer	6	7	0	30	62	8.86	5
S O'Shea	4	4	1	17	58	19.33	2
A Brown	1	1	1	49 *	49	N/A	1
G Edmunds	5	5	0	17	48	9.60	0
J Henshall	3	3	2	28	45	45.00	0
G Hewitt	.4	5	2	15 *	37	12.33	0
S Paice	6	7	3	11	37	9.25	7
S Magill	5	6	0	14	35	5.83	2
K Dawson	2	3	0	12	14	4.67	0
S Vallow	1	1	0	9	9	9.00	0
S Dawson	1	1	0	7	7	7.00	0
S Raju	1	2	0	7	7	3.50	1
P Johnston	6	5	2	2	4	1.33	0
S Henshall	1	2	2	2 *	2	N/A	0
M Lukan	1	1	1	0 *	0	N/A	0
S Crane	1	0	0	N/A	0	N/A	0
J Slater	1	1	0	0	0	0.00	1
S Ghauri	1	1	0	0	0	0.00	0

3rd Grade Bowling

Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling
K Spencer	91.2	10	355	19	18.68	5/50
S O'Shea	47	10	144	11	13.09	3/28
A McLevie	57 .5	8	192	9	21.33	4/21
P Johnston	59	18	123	7	17.57	3/37
J George	33	3	112	6	18.67	2/26
K Elliott	40	10	110	5	22.00	3/46
G Edmunds	42	3	119	5	23.80	2/34
J Henshall	58	13	145	5	29.00	3/35
S Crane	7	2	13	4	3.25	4/13
S Vallow	10	0	70	4	17.50	4/70
K Dawson	5 .2	1	23	3	7.67	2/23
S Henshall	11	0	61	3	20.33	3/61
G Hewitt	29	12	62	2	31.00	1/13
M Harmer	15 .2	3	71	2	35.50	1/6
P Liadow	2	0	12	1	12.00	1/12
M Lukan	4	4	0	0	N/A	0/0
M Reilly	4	0	17	0	N/A	0/17
J Slater	2	0	18	0	N/A	0/18
D Rickards	2	0	19	0	N/A	0/19
S Paice	3	1	19	0	N/A	0/19
J Warren	7	1	37	0	N/A	0/15

3rd Grade Partnerships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	A McLevie / G Hewitt	53	Bassendean
2	S Magill / D Rickards	29	Nollamara
3	D Rickards / M Reilly	97	Shenton Park
4	D Rickards / K Elliott	40	Wembley Downs
5	P Liadow / K Elliott	58	Swanbourne
6	M Reilly / J George	37	Shenton Park
7	G Davies / S Dawson	18	Wembley
8	M Reilly / J George	65	Swanbourne
9	K Elliott / J Henshall	42	Subi-Marist
10	J Henshall / G Davies	11	Shenton Park

Fielding Votes

S Paice	56
J Neilson	44
D Rickards	41
M Reilly	40
M Harmer	37
G Davies	36
J Warren	34
S Magill	32
K Elliott	30
P Liadow	29
A Brown	25
J George	25
S O'Shea	24
D Stephens	20
S Ghauri	15
J Henshall	14
P Johnston	11
A Nation	11
G Hewitt	8
G Edmonds	8
K Spencer	8
K Dawson	6
A McLevie	4
S Crane	4
S Raju	4
S Henshall	3
J Slater	1

5th Grade Report

Firstly I would like to thank all the players that played 5th grade this season. Your support and help to me in my first year as captain has been most appreciated.

Our first half of the season was at times a bit frustrating, getting so close in many games that could have made a big difference at the end of the season. Whilst our bowling efforts were good all year, our batting let us down, but hard work through the season started to turn this around.

After the Christmas break I felt that all the guys really dug in and gave their all, giving us three wins in a row. Outstanding performances throughout the year with the bat were Dino Elpitelli 71, Simon Magill 69, Peter Smith 67 and Glenn Hewitt 57. With hard work there is still a lot of potential high run makers in coming seasons.

Dean Scott, a new player at our club, has bowled well all season taking 27 wickets with best bowling of 6/27. Dean has great ability to be an outstanding bowler at Bentley in future seasons. Other good performances were Dino Elpitelli 23 wickets B/B 4/33, Rick Pugh 4/41 and Gus Edmunds 3/17.

Some young players have emerged this season showing bright futures, Geoff Dart and Steve Paice have come up the grades and performed well.

Lloyd Dungey was once again brilliant in the field and consistently valuing his wicket. I would also like to thank Lloyd for his advice and encouragement throughout the season.

For me personally, I have enjoyed my time as captain, I have learnt many invaluable lessons. The support of my whole team, coach and committee has been greatly appreciated.

To my wife Donna, thankyou for your tireless efforts off the field for myself and team this season.

Dino Elpitelli

5th Grade Batting and Fielding

Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.
D Elpitelli	11	13	2	71	246	22.36	5
L Dungey	11	11	1	41 *	169	16.90	2
P Smith	4	5	1	67	118	29.50	0
G Hewitt	5	8	1	57	96	13.71	5
J Neilson	2	3	1	55 *	89	44.50	2
S Paice	4	4	0	47	77	19.25	3
R Fernandez	6	7	1	51 *	77	12.83	2
S Magill	1	1	0	69	69	69.00	1
P Liadow	2	2	0	35	64	32.00	Ö
S Amato	6	7	1	26 *	62	10.33	5
C Rickards	2	3	0	37	54	18.00	1
Ge Dart	10	10	3	15 *	50	7.14	13/1
B Kelly	4	4	0	21	49	12.25	1
S Raju	3	5	3	21 *	43	21.50	3
S Ghauri	2	3	0	30	42	14.00	1
W Blake	5	5	0	22	37	7.40	1
J George	3	3	0	12	23	7.67	0
A Jackson	1	1	0	21	21	21.00	0
D Scott	10	8	3	11	21	4.20	3
S Dawson	6	6	1	8	20	4.00	1
S Henshall	2	2	1	9 *	17	17.00	2
M Massee	3	3	1	9 *	16	8.00	0
G Edmunds	4	4	0	7	12	3.00	0
G Boulazeris	1	1	0	9	9	9.00	0
A Nation	2	3	0	5	8	2.67	1
D Arcaro	1	1	0	6	6	6.00	3
S Delene	1	1	0	6	6	6.00	2
B Hayward	1	1	0	4	4	4.00	1
J Henshall	2	2	1	1 *	1	1.00	1
Gr Dart	1	0	0	N/A	0	N/A	1
K Spencer	2	2	0	0	0	0.00	0
R Pugh	3	2	1	0 *	0	0.00	0
P Johnston	1	1	0	0	0	0.00	0

5th Grade Bowling

Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling
D Scott	142 .1	38	325	27	12.04	6/27
D Elpitelli	144	24	417	25	16.68	4/33
G Edmunds	46	10	110	10	11.00	3/17
R Pugh	65	19	150	8	18.75	4/41
S Amato	39	8	128	6	21.33	4/24
C Rickards	20	8	46	4	11.50	3/8
S Raju	11 .3	3	31	3	10.33	1/0
P Johnston	23	7	43	3	14.33	2/34
K Spencer	19 .2	3	50	3	16.67	2/34
G Boulazeris	18 .3	8	54	3	18.00	3/41
G Hewitt	20	3	63	3	21.00	2/24
J Henshall	25	6	67	3	22.33	3/36
S Henshall	19	5	38	2	19.00	1/3
M Massee	30 .1	7	82	2	41.00	1/29
J Neilson	2	1	1	1	1.00	1/1
S Dawson	3	0	13	1	13.00	1/13
D Arcaro	12	4	28	1	28.00	1/28
W Blake	23	5	65	1	65.00	1/16
J George	28	4	73	1	73.00	1/14
S Paice	2	0	13	0	N/A	0/13
S Magill	3	0	15	0	N/A	0/15
R Fernandez	9	0	40	0	N/A	0/18
Ge Dart	1	0	4	0	N/A	0/4

5th Grade Partnerships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	G Hewitt / S Paice	35	Wembley Downs
2	D Elpitelli / P Liadow	48	Doubleview
3	J Neilson / R Fernandez	110 *	Applecross
4	D Elpitelli / R Fernandez	66	Subi-Marist
5	P Liadow / L Dungey	49	Nollamara
6	S Raju / P Smith	54	Balcatta
7	L Dungey / Ge Dart	50	Doubleview
8	S Amato / Ge Dart	15	Swanbourne
	P Smith / Ge Dart	15	Nollamara
9	B Kelly / Ge Dart	32	Wembley
10	P Smith / S Henshall	48	Nollamara

Fielding Votes

Ge Dart	90	P Liadow	13
L Dungey	87	. =	
		Gr Dart	12
S Amato	71	J George	10
S Paice	64	R Pugh	10
D Scott	55	C Rickards	10
G Hewitt	32	R Fernandez	8
D Elpitelli	31	G Boulazeris	8
S Magill	27	W Blake	5
S Delane	21	M Massee	4
D Arcaro	19	B Hayward	3
S Henshall	17	B Kelly	2
J Neilson	16	P Smith	2
S Dawson	16	A Nation	2
G Edmunds	15	J Henshall	1
S Raju	14	K Spencer	1
S Ghauri	14	P Johnston	1

7th Grade Report

The 1999/2000 season was not one of the better seasons we have had. The players who played 7th's this season had the physical abilities to compete at this level, but possibly not the self confidence in those abilities to perform at a consistent standard. This resulted in us finishing the season in 9th position with 1 outright win, 2 first innings wins, 1 draw, 6 losses and 1 outright loss.

There were some outstanding performances with both bat and ball during the season. Outstanding bowling performances were: Rick Pugh 7/42 off 18 overs v Bassendean, Shane Crane 6/16 off 14.5 overs v Kalamunda and 5/33 off 15 overs v Shenton Park, Greg Sheppard 5/17 off 12 overs v Shenton Park, Steve Henshall 5/77 off 21 overs v Melville and Ian Dickerson 7/49 off 21 overs v Doubleview and 5/78 off 27 overs v Curtin/Vic Park. Outstanding batting performances were: Steve Cairns 65no (batting through the innings) v Kalamunda and 59 v Whitfords and Mick Dicker-Lee 55no (1st 50 for the club) v Bassendean.

A rewarding aspect of the season was watching players who started in this grade finish the season in higher grades: Rick Pugh to 5^{th} grade and Steve Henshall to 3^{rd} grade.

Thank you to all the players who played under my captaincy this year, especially to my vice-captains Steve Cairns and Derek Gascoigne.

With a bit of work during the pre-season I am sure we will once again see Bentley 7th grade and all grades become the trendsetters of the Suburban Turf Cricket Association.

Greg Sheppard

7th Grade Batting and Fielding

Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.
G Sheppard	11	16	2	46	374	26.71	5
S Cairns	9	12	2	65 *	210	21.00	1
S Delane	9	13	1	35	166	13.83	10/6
A Jackson	6	7	0	31	111	15.86	2
M Dicker-Lee	5	8	1	55 *	104	14.86	7
R Fernandez	4	5	2	31 *	90	30.00	3
S Henshall	8	9	2	20	57	8.14	7
M Saxon	9	11	1	15 *	53	5.30	5
J Neilson	2	2	0	35	49	24.50	2
D Gascoigne	8	9	1	15	46	5.75	10
B Hayward	1	2	1	36 *	43	43.00	0
A Nation	1	1	0	42	42	42.00	1/1
J George	1	2	0	41	41	20.50	0
B Kelly	6	7	0	12	39	5.57	2
I Dickerson	6	5	1	16	33	8.25	4
P Liadow	1	2	0	18	32	16.00	1
C Rickards	1	1	0	30	30	30.00	0
S Amato	3	3	0	26	30	10.00	0
M Massee	4	6	3	22 *	30	10.00	0
S Crane	5	5	0	10	26	5.20	3
J Chandler	1	2	0	21	21	10.50	0
R Pugh	3	4	3	5 *	12	12.00	1
M Jolly	2	2	0	10	11	5.50	1
K Magill	2	3	0	6	10	3.33	0
W Shaw	1	1	1	9 *	9	N/A	0
G Boulazeris	1	1	0	9	9	9.00	0
P Smith	1	1	0	8	8	8.00	0
D George-Kennedy	1	1	0	8	8	8.00	0
J Green	4	3	0	3	6	2.00	0
A Ford	1	1	0	4	4	4.00	0
C Renwick	1	1	0	4	4	4.00	1
C Scott	3	2	0	4	4	2.00	1
D Scott	1	1	0	1	1	1.00	0
T Stone	1	0	0	N/A	0	N/A	0
P Jardine	1	1	0	0	0	0.00	0
S Jeffreys	1	1	0	0	0	0.00	1

7th Grade Bowling

Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling
S Crane	99	32	199	22	9.05	6/16
G Sheppard	116 .1	26	335	22	15.23	5/17
I Dickerson	71.5	17	178	17	10.47	7/49
S Henshall	87	19	250	14	17.86	5/74
R Pugh	39	8	127	10	12.70	7/42
M Massee	39 .3	10	128	10	12.80	4/53
M Dicker-Lee	32	7	107	8	13.38	3/22
D Gascoigne	53 .5	14	125	7	17.86	3/31
C Rickards	18	4	68	4	17.00	4/61
D George-Kennedy	12	3	44	2	22.00	2/44
W Shaw	17	1	51	2	25.50	2/51
D Scott	6	2	16	1	16.00	1/16
J Chandler	4	0	23	1	23.00	1/23
J George	2	0	4	0	N/A	0/4
S Amato	2	0	5	0	N/A	0/5
B Kelly	1	0	9	0	N/A	0/9
A Ford	3	0	18	0	N/A	0/18
G Boulazeris	12	2	33	0	N/A	0/33
M Jolly	13	1	47	0	N/A	0/22
C Scott	8	2	53	0	N/A	0/10

7th Grade Partnerships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	S Cairns / S Delane	51	Balcatta
2	G Sheppard / M Dicker-Lee	85 *	Bassendean
3	R Fernandez / G Sheppard	59	Balcatta
4	R Fernandez / B Kelly	28	Balcatta
5	R Fernandez / A Jackson	31	Curtin/Vic Park
6	J Chandler / S Delane	39	Melville
7	B Hayward / D Gascoigne	28	Bedford Morley
8	M Dicker-Lee / S Henshall	36	Nedlands
9	S Cairns / S Henshall	37	Kalamunda
10	S Cairns / J Green	31	Kalamunda

Fielding Votes

D Gascoigne	96	J Chandler	12
S Delane	77	M Massee	9
S Henshall	72	G Boulazeris	9
M Saxon	68	S Crane	8
M Dicker-Lee	45	A Jackson	7
B Kelly	30	C Rickards	7
S Amato	29	I Dickerson	6
G Sheppard	19	D George-Kennedy	6
J Neilson	18	A Nation	4
S Cairns	18	J George	3
R Pugh	17	M Jolly	2
K Magill	16	P Smith	2
J Green	15	B Hayward	2
C Renwick	15	D Scott	1
R Fernandez	14	S Jeffreys	1
C Scott	13	W Shaw	1

9th Grade Report

The season was for us very mixed, from having 345 runs scored against us in one game to beating three of the top four sides in the last five games of the season.

During the season we used 45 players in the side and I would like to take this opportunity to thank everyone for their efforts throughout the season.

As has been the case in recent seasons our bowling out shone our batting once again. With Doug George-Kennedy, Warren Blake, Kevin Magill and Warren Shaw leading the way, Doug in particular had a very good season taking 24 wickets at 10.40.

While the batting was not great players like Kevin Magill, Warren Blake, Doug George-Kennedy and Bruce Bindon who did a lot of the hard yards when we were in trouble, all had seasons to be reasonably happy with. Kevin in particular with 260 runs at 22.

I would like to take this opportunity to thank my vice captain Bruce Bindon who ran the side for almost half our matches, for his invaluable assistance throughout the season and is as good a right hand man as you could ask for. Also chairman of selectors Greg Dart for ensuring we had a full side in all games, which at times meant playing himself.

I would also like to thank all the ladies who came along each week to watch their other halves play especially Natalie, Peta, Dianne and Sheree for all their help and support during the season.

Keep working hard and the results that weren't quite there this year will come.

Again thank you to all involved.

Warren Shaw

Bentley Cricket Club Inc

9th Grade Batting and Fielding

Player	Matches	s Innings	Not Outs	H/Score	Runs	Average	Cat/St.
K Magill	11	12	0	49	253	21.08	3
W Blake	7	8	1	61	155	22.14	3
D George-Kennedy	11	12	2	19 *	91	9.10	0
B Bindon	11	11	1	30	89	8.90	15
Gre Dickerson	1	1	0	79	79	79.00	0
W Shaw	10	8	0	23	79	9.88	2
S Jeffreys	9	10	4	25 *	72	12.00	11
J Neilson	1	1	0	64	64	64.00	2
S Dawson	3	3	0	53	64	21.33	1
D Needs	6	7	1	31	61	10.17	1
K Harmer	6	7	0	15	55	7.86	6
S Plunkett	4	5	0	14	51	10.20	1/1
M Jolly	4	3	0	30	48	16.00	1
C Nicholls	4	5	0	15	42	8.40	2
G Boulazeris Gr Dart	3	3	0 0	20	37	12.33	1
G Spencer	1	1	0	30	33	16.50	0
S Raju	1	1	0	32 32	32 32	32.00	1 2
G Hewitt	1	1	0	29	29	32.00 29.00	0
M Saxon	3	4	0	15	28	7.00	1
D Gascoigne	2	2	0	22	24	12.00	1
J Nicol	4	5	0	9	24	4.80	1
A Ford	1	1	0	20	20	20.00	Ó
L Guy	i	1	1	19 *	19	N/A	0
M Massee	i	i	Ö	19	19	19.00	3
P Liadow	1	1	Ö	18	18	18.00	1
A Archer	1	1	Ō	17	17	17.00	Ö
C Renwick	6	6	1	10	13	2.60	4
A Jackson	2	2	0	9	12	6.00	0
B Gilroy	1	1	0	11	11	11.00	0
S Crane	2	2	0	9	9	4.50	1
P Smith	2	2	0	7	9	4.50	0
W Dyson	2	2	1	5	7	7.00	1
D Stephens	8	7	2	2	6	1.20	4
A Pillai	10	9	5	5 *	5	1.25	1
K Ferguson	1	1	0	4	4	4.00	1
J Butler	1	1	0	3	3	3.00	1
J China	2	2	0	1	2	1.00	1
R George-Kennedy		1	0	1	1	1.00	0
C Hille	1	1	0	0	0	0.00	0
J Green	6	4	0	0	0	0.00	0
J Field	1	1	0	0	0	0.00	0
J Harris	1	1	0	0	0	0.00	0
N Staude	1	1	0	0	0	0.00	0
C Scott	2	2	0	0	0	0.00	2

9th Grade Bowling

Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling
D George-Kennedy	115	28	246	24	10.25	4/17
W Shaw	68 .3	17	152	17	8.94	5/21
K Magill	108	15	346	16	21.63	3/17
W Blake	63	9	208	9	23.11	3/31
G Boulazeris	19	6	64	6	10.67	3/26
S Crane	33	9	81	6	13.50	5/52
A Pillai	62	7	226	6	37.67	2/49
M Jolly	49	9	131	5	26.20	4/27
B Bindon	39	6	158	5	31.60	1/0
D Gascoigne	10	3	27	4	6.75	4/27
C Nicholls	7	0	36	4	9.00	3/1
A Ford	6	1	21	3	7.00	3/21
D Needs	4 .2	0	24	3	8.00	1/0
M Massee	26	10	41	3	13.67	3/12
G Hewitt	17	5	33	2	16.50	2/13
A Archer	15	3	34	2	17.00	1/16
C Renwick	8	0	59	2	29.50	2/59
G Spencer	8	2	18	1	18.00	1/18
W Dyson	3	0	20	1	20.00	1/20
L Guy	7	1	26	1	26.00	1/26
A Jackson	3	0	27	1	27.00	1/27
N Staude	8	0	35	1	35.00	1/35
D Stephens	6 .4	0	53	1	53.00	1/2
K Harmer	9	1	59	1	59.00	1/55
S Plunkett	9	0	79	1	79.00	1/79
P Smith	4	1	6	0	N/A	0/6
J Green	1	0	7	0	N/A	0/7
J China	5	0	21	0	N/A	0/21
Gr. Dart	4	0	21	0	N/A	0/21
S Dawson	9	0	21	0	N/A	0/21
K Ferguson	7	0	26	0	N/A	0/26
S Raju	10	1	27	0	N/A	0/27
S Jeffreys	2	0	33	0	N/A	0/33

9th Grade Partnerships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	Gr Dickerson / Gr Dart	107	Tuart Hill
2	K Magill / G Boulazeris		Tuart Hill
3	S Dawson / W Blake		Whitfords
4	K Magill / W Shaw		Hamersley Carine
5	B Bindon / K Harmer		Tuart Hill
6	W Blake / D Needs		Bedford Morley
7	W Blake / W Dyson		Bedford Morley
8	M Saxon / S Jeffreys		Bassendean
9	D George-Kennedy / C Renwick		Bassendean
10	L Guy / B Gilroy		Bedford Morley

Fielding Votes

S Jeffreys	89	P Liadow	15
C Renwick	66	G Boulazeris	14
B Bindon	65	M Jolly	14
D Needs	62	S Crane	13
K Magill	60	M Massee	13
D Stephens	60	W Blake	10
A Pillai	45	C Scott	10
S Plunkett	45	W Shaw	8
D George-Kennedy	39	B Gilroy	7
J China	36	S Raju [*]	6
J Green	32	A Ford	5
K Harmer	25	J Butler	4
C Nicholls	18	K Ferguson	3
S Dawson	18	A Nation	3
G Spencer	17	J Neilson	3
M Saxon	16	G Dickerson	2
W Dyson	16	P Smith	1
D Gascoigne	15		

Ralph Dungey Memorial Trophy

Player	Total	Player	Total
G Sheppard *	613	S Paap	163
D Elpitelli *	527	J Henshall	163
M Reilly *	509	S Jeffreys *	162
K Magill *	499	A Jackson	161
A Magill *	475	D Needs	153
S Perrozzi *	403	Ge Dart *	143
D George-Kennedy *	400	P Smith	140
S Vallow	388	S Raju	136
S Crane *	380	S Dawson	135
J Neilson	359	J Warren	129
S Henshall	358	M Jolly	125
D Scott *	358	B Kelly	120
S O'Shea	338	K Dawson	119
K Spencer	332	S Ghauri	118
W Blake *	307	C Renwick	118
D Arcaro	299	P Johnston	116
A Brown	293	A Pillai	110
P Liadow	291	S Plunkett	106
D Gascoigne *	291	C Nicholls	100
W Shaw	287	D Stephens	96
D Rickards *	285	K Harmer	90
S Shearing *	274	Gre Dickerson	81
G Hewitt	272	G Spencer	59
S Delane	270	A Ford	59
L Dungey	256	J Green	53
K Elliott	253	B Hayward	52
S Amato	252	Gr Dart	45
J George	251	J Chandler	43
M Massee	241	J China	38
S Paice *	234	A Archer	37
G Edmunds	233	W Dyson	33
M Dicker-Lee	229	L Guy	29
S Cairns	228	C Scott	27
A McLevie	220	J Nicol	24
R Pugh	219	B Gilroy	18
I Dickerson	209	D Barry	10
B Bindon	204	N Staude	10
G Davies	200	K Ferguson	7
D Berry	194	J Butler	7
P Warren *	194	R George-Kennedy	1
R Fernandez	189	J Slater	i
C Rickards	181	M Lukan	Ö
G Boulazeris	176	T Stone	0
M Harmer	170	C Hille	0
A Nation	165	J Field	0
M Saxon	165	J Harris	0
S Magill	163	P Jardine	0
_	17.5	- Garanio	J

^{*} Denotes Trophy winner, so ineligible.

Season Batting and Fielding

				•			
Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.
M Reilly	9	10	0	103	395	39.50	4
G Sheppard	11	16	2	46	374	26.71	5
S Perrozzi	11	11	1	81	306	30.60	3
J Neilson	11	13	1	64	268	22.33	7
K Magill	13	15	o.	49	263	17.53	3
D Elpitelli	11	13	2	71	246	22.36	5
D Rickards	11	13	ō	61	244	18.77	6
S Shearing	10	8	2	84	225	37.50	4
P Liadow	9	11	ō	63	224	20.36	2
S Cairns	9	12	2	65 *	210	21.00	1
W Blake	12	13	1	61	192	16.00	4
S Delane	10	14	1	35	172	13.23	12/6
D Berry	7	8	1	60 *	169	24.14	7
L Dungey	11	11	1	41 *	169	16.90	2
R Fernandez	10	12	3	51 *	167	18.56	5
G Davies	10	11	3 1				
G Hewitt	10	14	3	70	164	16.40	10
D Arcaro	10	11	0	57	162	14.73	5
A Brown			1	68	160	14.55	6
	11	10	3153	49 *	156	17.33	5
A Magill	11	10	1	37 *	154	17.11	3
K Elliott	7	8	3	42	153	30.60	2
A Nation	9	11	0	42	145	13.18	6/1
S Vallow	11	9	1	38	144	18.00	1
A Jackson	9	10	0	31	144	14.40	2
J George	9	10	0	41	143	14.30	4
P Smith	7	8	1	67	135	19.29	0
A McLevie	7	8	0	43	126	15.75	3
S Paice	10	11	3	47	114	14.25	10
S Magill	6	7	0	69	104	14.86	3
M Dicker-Lee	5	8	1	55 *	104	14.86	7
K Spencer	9	10	1	43	103	11.44	0
P Warren	11	10	2	24	99	12.38	17/2
D George-Kennedy	12	13	2	19 *	95	8.64	0
J Warren	7	8	1	29	94	13.43	1
S Amato	9	10	1	26 *	92	10.22	5
S Dawson	10	10	1	53	91	10.11	2
S Paap	4	4	1	46 *	89	29.67	3
B Bindon	11	11	1	30	89	8.90	15
W Shaw	11	9	1	23	88	11.00	2
B Kelly	10	11	0	21	88	8.00	3
C Rickards	3	4	0	37	84	21.00	1
M Harmer	11	12	0	30	84	7.00	6
S O'Shea	11	9	4	17 *	83	16.60	2
S Raju	5	8	3	32	82	16.40	6
M Saxon	12	15	1	15 *	81	5.79	6
Gre Dickerson	1	1	ó	79	79	79.00	Ö
S Henshall	11	13	5	20	76	9.50	9
K Dawson	10	10	ő	26	75	7.50	2
S Jeffreys	10	11	4	25 *	72	10.29	12
3 000,0			-	20		10.20	

Bentley Cricket Club Inc 26

Season Batting and Fielding

Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.
D Gascoigne	10	11	1	22	70	7.00	11
S Ghauri	8	8	0	30	66	8.25	4
M Massee	8	10	4	22 *	65	10.83	3
D Needs	6	7	1	31	61	10.17	1
G Edmunds	9	9	0	17	60	6.67	0
M Jolly	6	5	0	30	59	11.80	2
G Boulazeris	5	5	0	20	55	11.00	1
K Harmer	6	7	0	15	55	7.86	6
S Plunkett	4	5	0	14	51	10.20	1/1
Ge Dart	11	10	3	15 *	50	7.14	14/1
J Henshall	8	7	4	28	48	16.00	1
B Hayward	2	3	1	36 *	47	23.50	1
C Nicholls	4	5	0	15	42	8.40	2
S Crane Gr Dart	8	7	0	10	35	5.00	4
	3	2	0	30	33	16.50	1
l Dickerson	6	5	1	16	33	8.25	4
G Spencer A Ford	1 2	1	0	32	32	32.00	1
J Nicol	4	2	0	20	24	12.00	0
D Scott	11	5 9	0 3	9	24	4.80	1
J Chandler	1	2		11	22	3.67	3
L Guy	1	1	0 1	21 19 *	21	10.50	0
A Archer	1	1	0		19	N/A	0
C Renwick	9	7	1	17 10	17 17	17.00	0
R Pugh	6	6	4	5 *	12	2.83	5
B Gilroy	1	1	0	11	11	6.00	1
W Dyson	2	2	1	5	7	11.00 7.00	0
D Stephens	8	7	2	2	6	1.20	1 4
J Green	10	7	0	3	6	0.86	0
A Pillai	10	9	5	5 *	5	1.25	1
K Ferguson	1	1	0	4	4	4.00	1
C Scott	5	4	Ö	4	4	1.00	3
P Johnston	7	6	2	2	4	1.00	0
J Butler	1	1	ō	3	3	3.00	1
J China	2	2	Ö	1	2	1.00	1
R George-Kennedy	1	1	Ö	1	1	1.00	Ó
M Lukan	1	1	1	0.*	0	N/A	0
D Barry	1	0	0	N/A	Ö	N/A	0
T Stone	1	0	0	N/A	Ö	N/A	Õ
C Hille	1	1	0	0	0	0.00	0
J Field	1	1	0	0	0	0.00	0
J Harris	1	1	0	0	Ō	0.00	Õ
N Staude	1	1	0	0	0	0.00	Õ
P Jardine	1	1	0	0	0	0.00	Ö
J Slater	1	1	0	0	0	0.00	1

Bentley Cricket Club Inc 27

Season **Bowling**

Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling
S Crane	139	43	293	32	9.16	6/16
D Scott	148 .1	40	341	28	12.18	6/27
D George-Kennedy	127 .1	31	290	26	11.15	4/17
A Magill	180 .5	43	531	26	20.42	5/58
D Elpitelli	144	24	417	25	16.68	4/33
S Vallow	141 .1	46	354	23	15.39	4/34
G Sheppard	116 .1	26	335	22	15.23	5/17
S O'Shea	130	25	399	22	18.14	6/44
K Spencer	110 .4	13	405	22	18.41	5/50
W Shaw	85 .3	18	203	19	10.68	5/21
S Henshall	117	24	349	19	18.37	5/74
R Pugh	104	27	277	18	15.39	7/42
I Dickerson	71.5	17	178	17	10.47	7/49
K Magill	107.5	15	346	16	21.63	3/17
G Edmonds	88	13	229	15	15.27	3/17
M Massee	95 .4	27	251	15	16.73	4/53
D Gascoigne	63 .5	17	152	- 11	13.82	4/27
D Arcaro	97 .4	22	339	11	30.82	5/69
P Johnston	82	25	166	10	16.60	3/37
J Henshall	93	23	254	10	25.40	3/35
W Blake	86	14	273	10	27.30	3/31
G Boulazeris	49 .3	16	151	9	16.78	3/26
A McLevie	57 .5	8	192	9	21.33	4/21
M Dicker-Lee	32	7	107	8	13.38	3/22
C Rickards	38	12	114	8	14.25	4/61
S Perrozzi	100	22	367	8	45.88	2/53
K Elliott	52	10	153	7	21.86	3/46
G Hewitt	66	20	158	7	22.57	2/13
J George	63	7	189	7	27.00	2/26
M Reilly	26 .1	3	90	6	15.00	4/32
S Paap	42	8	133	6	22.17	2/34
S Amato	41	8	133	6	22.17	4/24
A Pillai	62	7	226	6	37.67	2/49
B Bindon	39	6	158	5	31.60	1/0
M Jolly	62	10	178	5 4	35.60	4/27
C Nicholls	7 4.2	0	36 24	3	9.00 8.00	3/1 1/10
D Needs		-	_	3		2/23
K Dawson	7.2	1 0	27 31	3	9.00 10.33	3/31
S Shearing	7 .2 9	1	39	3	13.00	3/21
A Ford	21.3	4	58	3	19.33	1/0
S Raju		1	69	3	23.00	2/50
A Brown A Archer	9 .3 15	3	34	2	17.00	1/16
C Renwick	8	0	59	2	29.50	2/59
M Harmer	15 .2	3	71	2	35.50	1/6
J Neilson	2	1	1	1	1.00	1/1
P Liadow	2	Ó	12	1	12.00	1/12
D Barry	6	1	17	1	17.00	1/17
G Spencer	8	2	18	i	18.00	1/18
O Obeline	5	-	10	•	. 5.55	.,

Bentley Cricket Club Inc 28

Season Bowling

	Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling	
	W Dyson	3	0	20	1	20.00	1/20	
	J Chandler	4	0	23	1	23.00	1/23	
	L Guy	7	1	26	1	26.00	1/26	
	A Jackson	3	0	27	1	27.00	1/27	
	S Dawson	12	0	34	1	34.00	1/13	
	N Staude	8	0	35	1	35.00	1/35	
	D Stephens	6.4	0	53	1	53.00	1/2	
	K Harmer	9	1	59	1	59.00	1/55	
	S Plunkett	9	0	79	1	79.00	1/79	
	M Lukan	4	4	0	0	N/A	0/0	
	Ge Dart	1	0	4	0	N/A	0/4	
	P Smith	4	1	6	0	N/A	0/6	
	J Green	1	0	7	0	N/A	0/7	
	B Kelly	1	0	9	0	N/A	0/9	
	D Berry	2	0	11	0	N/A	0/11	
	S Magill	3	0	15	0	N/A	0/15	
	J Slater	2	0	18	0	N/A	0/18	
	D Rickards	2	0	19	0	N/A	0/19	
	J China	5	0	21	0	N/A	0/21	
	Gr Dart	4	0	21	0	N/A	0/21	
	K Ferguson	7	0	26	0	N/A	0/26	
	S Paice	5	1	32	0	N/A	0/13	
	S Jeffreys	2	0	33	0	N/A	0/33	
	J Warren	7	1	37	0	N/A	0/15	
	R Fernandez	9	0	40	0	N/A	0/18	
	C Scott	8	0	53	0	N/A	0/10	

Career Batting and Fielding

Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.
L Dungey	376	464	70	103	7561	19.19	150
B Hayward	307	353	28	107	6128	18.86	196/13
S Cairns	284	388	58	66	4530	13.73	110
R Fernandez	175	191	22	101	3709	21.95	59
Gr Dart	208	289	33	77 *	3395	13.26	109/15
Gre Dickerson	213	239	18	108	3393	15.35	91
I Dickerson	175	192	22	73	3058	17.99	51
G Sheppard	76	97	7	154	2235	24.83	23
B Kelly	122	141	11	115 *	2103	16.18	77/16
M Harmer	137	155	24	87	2095	15.99	114/8
S Shearing	77	83	13	84	1903	27.19	35
A Magill	131	139	26	93	1895	16.77	67
P Warren	82	105	6	96 *	1831	18.49	94/10
S Magill	124	140	21	111	1660	13.95	59
G Davies	121	123	17	70	1636	15.43	130/8
K Dawson	73	77	2	98	1338	17.84	24
D Berry	47	47	11	121 *	1282	35.61	71/7
K Magill	84	102	9	66	1261	13.56	34
K Spencer	71	81	21	61	1238	20.63	34
K Harmer	79	107	7	57	1181	11.81	65/6
J George	65	67	6	64	1171	19.20	34
M Lukan	130	119	31	48	1122	12.75	49
J Warren	49	58	8	115 *	1083	21.66	42
D Rickards	47	51	3	112	1022	21.29	35
S Perrozzi	44	44	3	81	941	22.95	19
D Elpitelli	37	44	8	75 *	907	25.19	12
S Paap	28	27	4	220 *	885	38.48	21
K Ferguson	48	56	3	129	787	14.85	17
S Ghauri	43	47	4	65	749	17.42	30
S Vallow	34	30	1	90	746	25.72	10
J Chandler	34	40	4	69	659	18.31	5
M Jolly	41	50	5	62	613	13.62	7
P Smith	30	32	3	67	609	21.00	16
S Crane	43	44	7	64	596	16.11	15
W Shaw	59	68	8	98	593	9.88	13
G Edmonds	72	74	20	48	581	10.76	27
G Hewitt	43	50	10	57	553	13.83	13
S Dawson	46	48	4	54	538	12.23	18
L Guy	77	73	25	35	498	10.38	18
D Gascoigne	43	50	8	47	447	10.64	28
M Reilly	9	10	0	103	395	39.50	4
B Bindon	42	47	5	34	391	9.31	40
A McLevie	19	21	1	43	378	18.90	7
M Massee	32	32	8	66	321	13.38	11
C Rickards	31	25	7	72	316	17.56	7
P Liadow	14	17	1	63	296	18.50	5
S Paice	23	23	3	85	284	14.20	18
S Delane	22	27	2	35	273	10.92	22/6
J Neilson	11	13	1	64	268	22.33	7

Career Batting and Fielding

Player	Matche	s Innings	Not Outs	H/Score	Runs	Average	Cat/St.
A Brown	24	20	2	49 *	055		
A Jackson	19	23	1	39	255 250	14.17	9
D Barry	37	33	10	25	198	11.36	6
W Blake	12	13	1	61	198	8.61	21
J Nicol	29	32	i	18	180	16.00	4
S Henshall	24	25	10	20	18,053,553	5.81	7
D Arcaro	10	11	0	68	174	11.60	13
K Elliott	7	8	3	42	160	14.55	6
D George-Kennedy	20	21	4	20	153	30.60	2
A Nation	9	11	0	42	147	8.65	0
Ge Dart	37	43	7	20 *	145	13.18	6/1
M Dicker-Lee	5	8	1	55 *	127	3.53	28/3
B Gilroy	20	22	3		104	14.86	7
S Amato	9	10	1	13	95	5.00	3
S O'Shea	11	9	4	26 *	92	10.22	5
S Raju	5	8	3	17 *	83	16.60	2
M Saxon	12	15	1	32	82	16.40	6
S Jeffreys	10	11	4	15 *	81	5.79	6
D Needs	6	7	1	25 *	72	10.29	12
R Pugh	15	14	•	31	61	10.17	1
G Boulazeris	5	5	7	10 *	56	8.00	4
S Plunkett	4	5	0	20	55	11.00	1
J Henshall	8	7	0	14	51	10.20	1/1
C Nicholls	4	5	4	28	48	16.00	1
G Spencer	1	1	0	15	42	8.40	2
A Ford	2	2	0	32	32	32.00	1
D Scott	11	9	0	20	24	12.00	0
A Archer	1	1	3	11	22	3.67	3
C Renwick	9	7	0	17	17	17.00	0
J China	11	9	1	10	17	2.83	5
A Pillai	20	9 17	1	4	12	1.50	1
W Dyson	2	2	6	5 *	10	0.91	3
D Stephens	8	7	1	5	7	7.00	. 1
J Green	10	7	2	2	6	1.20	4
C Scott	5	4	0	3	6	0.86	0
P Johnston	7	6	0	4	4	1.00	3
J Butler	1	1	2	2	4	1.00	0
R George-Kennedy	1	1	0	3	3	3.00	1
T Stone	1	0	0		1	1.00	0
C Hille	1	1	0	N/A	0	N/A	0
J Field	1	1	0	0	0	0.00	0
J Harris	1	1	0	0	0	0.00	0
N Staude	i	1	0	0	0	0.00	0
P Jardine	1		0	0	0	0.00	0
J Slater	1	1	0	0	0	0.00	0
o Giatei	1	1	0	0	0	0.00	1

Bentley Cricket Club Inc 30

Bentley Cricket Club Inc 31

Career Bowling

Player	Overs	Maidens	Runs	Wickets A	verage
I Dickerson	2347 .2	593	6486	318	20.40
M Lukan	1734 .3		4118	271	15.20
A Magill	1,576 .5	411	4253	221	19.24
G Edmunds	790 .1	186	2036	157	12.97
G Dickerson	951 .3	209	2721	151	18.02
K Spencer	744 .1	188	2011	144	13.97
S Crane	695 .1	214	1647	130	12.67
L Guy	758 .5	176	1988	109	18.24
W Shaw	458.3	71	1488	97	15.34
S Vallow	541.1	160	1363	95	14.35
G Sheppard	462.1	92	1392	81	17.19
D Barry	473 .5	101	1485	76	19.54
M Jolly	445 .4	100	1196	74	16.16
S Shearing	430 .3	77	1299	68	19.10
D Elpitelli	318	52	941	67	14.04
J George	399.3	108	829	66	12.56
M Massee	443	143	1020	65	15.69
C Rickards	360 .1	80	889	63	14.11
B Hayward	253	37	891	63	14.14
K Harmer	332	74	933	63	14.81
S Perrozzi	405 .1	75	1257	57	22.05
G Hewitt	376 .3	86	1100	52	21.15
D Gascoigne	337 .3	75	971	51	19.04
D George-Kennedy		45	553	45	12.29
L Dungey	164 .3	12	662	41	16.15
S Henshall	221	46	694	40	17.35
S Paap	226 .4	50	659	32	20.59
K Magill	202 .1	28	749	31	24.16
R Fernandez	236	35	781	30	26.03
D Scott	148 .1	40	341	28	12.18
J Chandler	129 .2	30	358	28	12.79
R Pugh	197 .2	43	532	28	19.00
Gr Dart S O'Shea	122 .1	9	548	23	23.83
A Pillai	130	25	399	22	18.14
M Harmer	127 .1	18 22	406	21	19.33
S Magill	115 .2 155 .5	17	416 512	21 21	19.81 24.38
A McLevie	100	15	312	18	17.33
J Warren	72.4	9	280	15	18.67
A Brown	86 .3	15	319	15	21.27
P Smith	155	37	417	15	27.80
B Kelly	98 .1	20	338	13	26.00
B Gilroy	65	4	239	. 12	19.92
B Bindon	69 .4	11	234	11	21.27
D Arcaro	97 .4		339	11	30.82
P Johnston	82	25	166	10	16.60
J Henshall	93	23	254	10	25.40
W Blake	86	14	273	10	27.30
G Boulazeris	49 .3	16	151	9	16.78
		. •	. • •		

Career Bowling

Player	Overs	Maidens	Runs	Wickets	Average
M Dicker-Lee	32	7	107	8	13.38
K Elliott	52	10	153	7	21.86
S Dawson	55	3	255	7	36.43
M Reilly	26 .1	3	90	6	15.00
S Amato	41	8	133	6	22.17
G Davies	56 .5	8	240	5	48.00
C Nicholls	7	0	36	4	9.00
D Rickards	24 .1	4	109	4	27.25
D Needs	4 .2	0	24	3	8.00
K Dawson	7 .2	1	27	3	9.00
A Ford	9	1	39	3	13.00
S Raju	21 .3	4	58	3	19.33
S Cairns	16 .3	0	68	3	22.67
S Delane	4	0	18	2	9.00
A Archer	15	3	34	2	17.00
Ge Dart	8	0	34	2 2 2 2	17.00
J China	11 .3	1	48	2	24.00
C Renwick	8	0	59	2	29.50
S Ghauri	23 .4	4	87	2	43.50
J Neilson	2	1	1	1	1.00
P Liadow	2	0	12	1	12.00
G Spencer	8	2	18	1	18.00
W Dyson	3	0	20	1	20.00
D Berry	7	0	29	1	29.00
N Staude	8	0	35	1	35.00
K Ferguson	10	0	35	1	35.00
D Stephens	6 .4	0	53	1	53.00
A Jackson	7	1	61	1	61.00
S Plunkett S Paice	9	0	79	1	79.00
J Green	25	2	96	1	96.00
J Green J Nicol	1	0	7	0	N/A
	4	1	16	0	N/A
J Slater	2	0	18	0	N/A
S Jeffreys C Scott	2	0	33	0	N/A
P Warren	8	0	53	0	N/A
r wallell	9	0	64	0	N/A

Committee and Captains

President	Ron Fernandez
Vice President	Lesley Magill
Treasurer	Kevin Magill

Secretary Derek Gascoigne

Committee Members
Stephen Cairns
Geoff Dart
Dino Elpitelli
Donna Elpitelli

Jamie George Warren Shaw Justin Warren Paul Warren

Warren Shaw

Bruce Bindon

1 st Grade	Captain Vice Captain	Steve Shearing Scott Vallow
3 rd Grade	Captain Vice Captain Deputy Vice Captain	Glenn Davies Damien Rickards Justin Warren
5 th Grade	Captain Vice Captain Deputy Vice Captain	Dino Elpitelli Glenn Hewitt Jamie George
7 th Grade	Captain Vice Captain Deputy ViceCaptain	Greg Sheppard Derek Gascoigne Stephen Cairns

9th Grade

Captain

Vice Captain

Milestones

Achieved 1999/00

W Shaw	50 Games
L Dungey	150 Catches
K Magill	1000 Runs
D Rickards	1000 Runs
J Warren	1000 Runs
G Sheppard	2000 Runs
S Crane	100 Wickets
A Magill	200 Wickets

Achievable 2000/01

M Harmer	150 Games
D Berry	50 Games
J Warren	50 Games
D Rickards	50 Games
S Perrozzi	50 Games
D Elpitelli	50 Games
K Ferguson	50 Games
S Ghauri	50 Games
S Crane	50 Games
G Hewitt	50 Games
S Dawson	50 Games
D Gascoigne	50 Games
B Bindon	50 Games
D Barry	50 Games
Ge Dart	50 Games
P Warren	100 Catches
S Shearing	2000 Runs
A Magill	2000 Runs
P Warren	2000 Runs
S Perrozzi	1000 Runs
D Elpitelli	1000 Runs
S Paap	1000 Runs
S Ghauri	1000 Runs
S Vallow	1000 Runs
M Lukan	300 Wickets
W Shaw	100 Wickets
S Vallow	100 Wickets
G Sheppard	100 Wickets

Ladders

1st Grade		3rd Grad	3rd Grade		5th Grade	
Swanbourne Bassendean	92.10 91.39	Applecross Wembley Downs	104.68 93.24	Applecross Wembley	103.81 91.4	
Whitfords	87.13	Whitfords	92.46	Whitfords	89.86	
Nollamarra	87.04	Shenton Park	84.55	Swanbourne	88.47	
High Wycombe	86.83	Balcatta	76.57	Wembley Downs	86.01	
Balcatta	78.30	Subiaco Marist	74.65	Subiaco Marist	78.69	
Shenton Park	77.28	Swanbourne	73.19	Shenton Park	66.27	
Applecross	75.48	High Wycombe	71.25	Doubleview	64.12	
Wembley Downs	68.24	Bassendean	63.87	Balcatta	64.11	
Subiaco Marist	60.16	Wembley	61.1	Bentley	63.82	
Bentley	59.75	Bentley	56.96	Nollamara	60.57	
Wembley	56.80	Nollamara	49.58	High Wycombe	52.41	

7th Grade			9th Grade			
	Whitfords	116.34	Bedford / Morley	132.88		
	Melville	112.31	Tuart Hill	120.42		
	Doubleview	107.89	Whitfords	103.35		
	Bassendean	96.65	High Wycombe	102.05		
	Wembley Downs	91.63	Bassendean	95.67		
	Bedford / Morley	88.54	Melville	85.74		
	Curtin Vic Park	70.65	Bentley	75.2		
	Shenton Park	69.26	Ham / Carine	68.96		
	Bentley	68.38				
	Balcatta	61.63				
	Nedlands	51.71				
	Kalamunda	49.45				

Notes